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Quiz: Binonmial Probability

The probability that Kyla wll
score above a 50 on a
mat hematics test is 2/8. What
is the probability that she
will score above a 50 on
exactly two of the three tests
this quarter?

A fair coin is tossed 12 tines.
What is the probability that it
lands tails up exactly 3 tinmes?

The probability that Kyla wll
score above a 40 on a
mat hematics test is 2/09. What
is the probability that she
wi | score above a 40 on
exactly three of the four tests
this quarter?

Wite a fraction t hat
represents the probability of
obt ai ning exactly nine heads

in fifteen tosses of a fair
coin?

On any gi ven day, t he
probability that the entire
Watson famly eats dinner
together is 2/8. Find the
probability that, during any
9-day period, the Witson's
eat dinner together at |east
four tinmes.

Wite a fraction t hat

represents the probability of
obt ai ni ng exactly ei ght heads
inten tosses of a fair coin?

On any gi ven day, t he
probability that the entire
: C - Watson famly eats dinner
Atfair coin is tossed 11 times. together is 2/9. Find the
What is the probability that it i :
lands tails up exactly 2 tinmes? probability that, during any
P y ’ 8-day period, the Wtson's
eat dinner together at |east
three tinmes.
The probability that Kyla wll
score above a 70 on a Wite a fraction t hat
mat hematics test is 3/7. \What represents the probability of
is the probability that she 10 obtaining exactly two heads
wil | score above a 70 on in five tosses of a fair
exactly four of the five tests coin?
this quarter?
Gircle # Correct 0 1 2 3 4 5 6 7 8 9 10
Percent age Score 0% | 10%| 20% | 30% | 40% | 50% | 60% | 70% | 80% | 90% | 100%
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